—_

FR28EE

SHEMMEFTEHEEH

4 IE F "5 ) % 3

—MEFHFFEORE (KA —F)
—KREFHFE BRAOKR (HFEAR)
—REHFE ZHOKEEMNKR

#

kol
+



1. FR28FEE SHAEMBEFTEOHE

O IEDiHE - (A FH)
F k28 E
X ¥} Sz = = =
= 7 BRI BLE =T
— it (5E8m) 17,741,100 17,741,100
OBEDEIHNE
[—E£ET] (BA)
O #BAZ A 26,100 +H
[BABGAEEESEASIMBEIRAEESBRATDHA26,100]
O W& 26,100 +M
[(ZEE] TIE/NP—EREBREBXICZRSE565HEDEE(26,100)
@ FHBAFEMIE GBM) (B FH)
% I8 FEA %8
9 JHMhE 1 GHhE FHEEENFREEHIE 2,970
@ HAEME(ER) (B FH)
EBEOEM #HIE R #HIE%
PR EEE 383,900 410,000




— LA /= >3 E= — BE
2. — iR FEOIKR (FRAI—E)

A ok H B FF)
A WIERTDEE| #HIEZE it A WIERTDEE| #HIEZE it
1| 4,190,249 4,190,249 1|BEE 139,553 139,553
2 |HAES TR 184,000 184,000 2 |#aisE 2,372,485 2,372,485

I '-HI * A Y
3 g%ﬁj*ﬁ 4,500 4,500 J|IREE 5,037,324 5,037,324
L )3T .
4 gé%lxﬁ 25,000 25000 |4|@4EE 1,441,957 1,441,957
MAEER s
5 Mty 24,000 24,000 5|57EE 15,773 15,773
N r %
6 iﬁjﬁ’ﬁﬁ*ﬂ 600,000 600,000 6 EMKER 649,730 649,730
Xit&E g
L 75F A
7 Bz (2 124,000 124,000 7|BEIE 1,145,289 1,145,289
EEIER:) ¢
8 B i 2 56,000 56,000 8 |t KE 2,011,951 2,011,951
9 %g#ﬁmx 11,503 11,503 9 [HHE 781,878 781,878
10(#h A R 1 F5 5,320,214 5,320,214| |10|%& 1,859,818 1,859,818
RBERER g
11 RO 7,000 7,000 [11[KEEIBRE 25,425 25,425
PAN E = N
12|12 HERU 194,317 194317 |[12|MEE 1,367,000 1,367,000
=Ei=k o
3| EARRU 209,949 209.949| |13|sEXHE 842,917 842,917
FHH
WEEXZHS® 1,638,490 1,638,490 [14|F K& 50,000 50,000
15|BEXHE 1,204,892 1,204,892 & § 17,741,100 17,741,100
16|BAEEUR A 55,750 55,750
17| 5 M€ 231,020 231,020
18[f@ A% 805,056 A 26,100 778,956
19|fEHE 1,147,822 1,147,822
20|EEURA 324,794 324,794
21| & 1,382,544 26,100 1,408,644
& § 17,741,100 o| 17,741,100




3. — =5 FE mADIKR BHEAGR)

(B FH)

GHERl . 3R X 7| pEmoE WL st
7] 37) 4,190,249 4,190,249
PEERVEESE 194,317 194,317
ERMRTFHH 209,949 209,949
& B E I A 55,750 55,750
% & fef & 231,020 231,020
" & A & 833,786 A 26,100 807,686
& it & 1,119,092 1,119,092
E 4 A 324,794 324,794
N 5 7,158,957 A 26,100 7,132,857
w K OE 5 OB 184,000 184,000
M F R XM R 4,500 4,500
B & & X fF £ 25,000 25,000
if; = & {f{; AT 1% i 24,000 24,000
WHEEHRXFE 600,000 600,000
i v if_’} Al *‘éﬂ 124,000 124,000
% BRHEREHER TS 56,000 56,000
j; i 75 Bl X & 11,503 11,503
w K xR O 5,320,214 5,320,214
B E X H £ 1,638,490 1,638,490
B X ® = 1,204,892 1,204,892
& 1,382,544 26,100 1,408,644
N B 10,582,143 26,100 10,608,243
a &t 17,741,100 0 17,741,100

-3




4. —R=ETFE mHEOEERNK

(6 FH)
5 g = 7 BENOHE WIS Bt
A % =1 3,097,651 3,097,651
?&% ® Bf =1 2,069,628 2,069,628
;‘2 2 & =1 1,367,000 1,367,000
| &
w® N B 6,534,279 6,534,279
gg ) % =1 2,945,552 2,945,552
® B W B 102,512 102,512
W OB & % 2,892,337 2,892,337
B 12,474,680 12,474,680
” w OB F X 747,704 747,704
g B oW = X 1,592,089 1,592,089
B | %
Bl g | RESxaES 73,825 73,825
gg * N it 2,413,618 2,413,618
# X F ® B & 25,425 25,425
H 2,439,043 2,439,043
i} kv & 842,917 842,917
T | BERUVEE S
1@ = 1 &
#®
7| & H & 1,934,460 1,934,460
5 2,771,377 2,771,377
¥ ] = 50,000 50,000
a H 17,741,100 17,741,100




